
Math101 Term171 

Sec20   Quiz 3 
 

Name                                                       ID Sr 

 

Q1(5points) If 𝑔(𝑥) =
𝑠𝑒𝑐𝑥

ℎ(𝑥)
 with ℎ(𝜋) = −

√2

2
 and ℎ′(𝜋) = 2. 

Find 𝑔′(𝜋) .(Show your work) 

 

 

  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q2)(5 points) if 𝑓(𝑥) =
𝑠𝑖𝑛𝑥

1−𝑐𝑜𝑠𝑥 
  . Find 𝑓′(

𝜋

2
)             (Show your work) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Q3) (5 points) Find the equation of the tangent line to the curve 

 𝑦 =
𝑥−1

𝑥+1
       , 𝑥 < 0  that is parallel to the line 𝑥 − 2𝑦 = 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Q4) (5 points) Find the equation of the tangnet line to the parapola 

 𝑦 = 𝑥2 + 𝑥        , 𝑥 < 0 ,  that passes through the point (2, −3). 

 


